8o B g (soom-oe DI, so0k-02 BY M IRFTY, wrR X WRAT perien)
New 8eheme ( For Students studied?lqﬁring the Years 2005-06 & 2006-07 )

Code No. 31-NS

Total No. of Questions : 38 ) ' [ Total No. of Printed Pages : 15
 July, 2007
STATISTICS
( Kannada and English Versions )
. ( New Syllabus )
Tlme:3Hours] : [ Max. Marks : 90

( Kannada Version )

Boes : ) RECh mTneRy Shd, 70:0,8 GeesSrvay, Semn dRdourbam.
) SRt rrodoeaEtoriRy, ComatRenRED.

B) e ooy, BodneRa, LRI LodRIET .
fFen - A
L1 S ENS o, BB e woBon , - 10x1=10
(1. ‘eoxzme® ( Cohort 'Ry m9,500,0%.
2. e U8 Xm0l w, 5,00, 8.

3. 20008¢ SXFSy YT ITEEN, 20063 2w, P (L) 225 ¢ATT, 20004

| DT Koo, Bt ?

4. ‘Hayot wE e Jonvned, B, SEriod, urw 2uR Tedcied
OIRE FEITON NDVRABTS ? |

5. 23O H30H0DE, RoWRD DR, NG Ko2OTHRY, 8.

[ Turn. over



Code No. 31-NS ' 2

IL.

6.

10.

x 2-230rod om0 (,R,) Sy L.

. ‘tomd W’o&m‘ TRIT RN,

m sg’m 39,803,

B, By HOB 9,20, .

o020, 8 Theo DODOBEAIIY, TRR'BY, 53, 203,

-B

81 8PS Tt ¥, BFNCA ev3on S 10x2=20

11.

12.

14.
' 15.
16.

17.

" MMR. 6, 8otbioaond (1000 8,).

woth ROFH, BRFOE, 208 HTONGE, 3250 Rexod HIirids oA,

Beds 35 PUINYY, DrLAT  HIINT  TRODT  TFT %8

X003,0871¢ CIRGETIRTR 0 eoacdeenrivry LB

. Pg (L)=13533, P, (P) =138, P, (F) &y d0mR0m0,

‘Toedes, 08wy, BosndeoaM WA
GRS RLOGKINYY, B DIHD et HITHA BB ?

‘' D3TD AHE0E 6 YTV, DUOSEHRY BoAAMD,

1058 wHE, 11O 3 Neay, 553,505,3%.



III.

18.

19,

20.

- 21.

22.

8 BUNRHVY, CRFITICL S0k JFNOrt Lo o :

3

Code No. 31-NS

x 2-0004, 0 LoD AOBIDE, STy XOWRITNG ST DLV,

23000,

(il—izl = 27 ¥, SE. (il-}?z) =13 o, Z oy

‘Gnariv o% - riowrie 835 ( Maximin-Minimax )’ $50% TN

roths ohoBd Fndde SRET XS e, Td, Xowkd AVFImS e, Ao
| wbesmA Oe. 6,000 3, de. 6,200 vy UAGY, ‘TIAFE XOIRO

By D> ?

P'=002 &, n=100 o580, d-34, (np3) oD Deoum
DODOBEH 0IAYRY BoTRAND. |

ot - €

23. &r, PoNodd KON, BoRLRODD

- 8x5=40

Sedoeriony | sbidedo goal Sododdocdort e

(Sxeriee, ) ('000) L3RRI Hod,
15-19 58 1,392
20 - 24 60 9,000
25 - 29 56 11,928
- 30 - 34 55 6,490
35 - 39 50 1,650
| 40 - 44 44 572
45 - 49 40 60

[ Turn over



Code No. 31-NS 4

24. S9NS T%3, 088, HROTT Kotm, 087 DR ST B (VTR Towys,)
- Woed oy I Revrsd oo Rty

¢ (ce.rlog) ) #osnes
A 9 11 1z 15
B 6 4 14 18
C 5 9 22 20
Db 17 15 . 5 5

25 497G 53,084, 19903 JAF R, SO FnFTA Icdlod, 1995 Hay,

200085 SRETION My 36 e, 08rivRy, Socbnomd :

1990 P ST moRy Howro8 o)
oo 1995 2000 Sonried
e 100 180 _ 30
| 2, | 120 140 6
eomes T, wde . 140 160 8
]
wman E 300 400 - 11
R 30 120 160 12




26.

27.

28.
B &.rponvohcdd —.gmm, HICHARAS. 45 3.0 By, 55 8.1m30 Wt

29.

30.

31.

5

Code No. 31-NS

BSOS T32,088, HAOTHAFY WOR JoIRORTRY, BordLAD :
- 1 ,

e | 1991

1992

1993

1994

1995

1996

1997

1998 | 1999

s | 100

102

104

101

106 | 103

101

100 | 102

oz KoRoN0E BERORYL, womd Fpest (Fuse) RARTPOBTONCHT
xousachdoid 003 UNE. 100 T TivR, BooHS wom By e
cinridle AReRAR0S Rty BACEOUS XORHICHIODRY, S0BLAD.

Bo008 ?

@03E 1000 BYAMGQ, SRy, BeyANT BN 20m LRARTHOS T3,z

1000 Horsory GAONEC Bemrey, XOWEO 50 8.0 I, AoHI Srdo

BHB00E Jotserd odesT Kosd,ohRy, BordER0RD.

OIS T333,08000, XOWONED NEHmss JB/AER, Beofsode Som [OYN ¢

T el
ma, 400 200
OO 685 67-2
2088 drsed 8 6

oo 3 2-B0ed, o BOeEy, VIR, HTOX.

Fotednt Bomed B, FoLdcd So3VE 5 DN, PFTY WIS, romosne

ROWRONVE), MRS WHoWRNEebe S0w B A.

amer 1 2. 3 4 | s
sodeaddecier | 120 | 125 | 118 | 136 | 121
soedmosd | 110 | 123 | 120 | 132 | 125

(o = 0-01 ord INTEAR,)

{ Turn over



_ Code No.31-Ns 6
32. 81 89t oo KovdeDeod BIDOR AROK,ADRY, S B Sonocs B :

DROBIAOVTY, Sx + 4y 2 40,

2x+5y 2 10
BB, x20, y20shmyn
~ Z =50x + 30y 6y, sngriees.

(wog aqamm "3, aaos:aroua 33, 8, xosd, 32 8 urnen )

mm&muy mab *En 302 g 200, BIRORE T, z.)q_,obag

- BaiROtes Hath S5 TOE SRt GBI, Wi f0s, AT o
2O, mmmawgsuq,nzm 803) 330, 6 D¢, ReD T T3y,
4 20e. B e e, god, wom SRS eE B e w5 dve. fom meg
oR8 I, oA o3 3;1‘ Rorj@rod) 8 Qve. B0z) o8, 10 e, BT AT
=%, 15 2ot DO mORT, BROOH. Lom> SR WET Uy taid,csord
10 0. 3, 1oz SR UG e w08 6 8. HURRS 20003, B80S0
RTINS, Tpeorao BRI IROIDAES b SRRy, MoFRAeRED
ZOwSeDeoD BHRO m:caom; CEYEY

33, md:smnwz:;em, 2,00 donent 200 o8 0 acaqmmm—a
633, 93000%, Re008. 8 Moty Kon@songy, T8 YT 0w
URIFY, 50 B0, Tod, AT B, 20w Sorien o BGEY, 2 Ao
HID. UPFE eHULLIS Dear werdad TORRS ( Economic Order
Quantity ) S, domdbacnd. 6408 Sy womh BHEEY, wom> sorer
10 te. <G8, URFY GBS Rens s N ey



7

34. by, rbosgRbr, ToEGLotA 80N ety Bk :

B, B, B

A 3 2 o 6

-1 0

A, -3
Ag\ -3 4 -3 0
gt -D

IV. o 8¢nS cimadde axd BAROR wogon :

B,

-1

Code No. 31-NS

2

x 10 =20

35. CRRFET-tIe a, SRAEOS -0 RITES 1 et,oBnvRy, BorbiacD :

£3eried (Co.1160, ) wO=es
&5y, rich
2002 2004 2002 2004
P ' 7 ‘9 70 99
9 9 11 81 110
R 15 20 225 1300
36. SRS 033,085 100D INOH mRRoL,oDRY, BAOVIS ¢
s 1921 | 1931 | 1941 | 1951 | 1961 | 1971
esaios 80 | 100 | 110 | 120 | 140 | 152
('000)

) xovdesdeod @y, oy REbomh wE, Hhd,0 BSURY, JomR0.

i) 1981 8, 23K00,0DT, BTN,

[ Turn over



Code No. 31-NS 8
37. $oNS R orien emdrys abor doniesy Sotead Wiy :

setdy | - g9-A L¢-B | e

| (ST | st | sockrnes | mdos] | aoremen | mEG0x
0-10 | 600 18 400 16 | 500
10-20 | - 1,000 s 1,500 6 1,200

{ 20-60 | 3,000 24 2,400 24 2,500
60—l100 400 20 700 21 500

38. woPL3 8 meanm 256 0w oS, I xoasos; dacred
U MR, BoTERCKD

| wmemm(x) o | 1| 2|3|als|6|7a

wnEHa (f)| 2 | 6 |30 52|67 56| 32 10 1

&% awm  Meas M{,orb Rborsse S0 esoche» x 2-5oed, o maocb
REDOLIRT, &,008.



9 ' Code No. 31-NS
( English Version )

Note: i) Graph sheeets & Statistical tables will be supplied on
. request.

W ‘Scienutic calculators may be used.
i) All working steps should be clearly shown.

SECTION ~ A

Answer fhe-following questions : 10x1=10

1.

- 9.

Define Cohort.

Define Consumer Price Itid@x Number.

IfPOl-( L) for the year 2006 with base year 2000 is 225, what is the

" Index Number for 2000 ?

Which component of Time series is observed in 'Increase in
passengersmtraindunngApi'ﬂ and May' ?

Write the relation between mean and' variance of Bernoulli

Distribution.
Write the range of y 2-distribution.
Define Point estimation.

Define Power of a test.

' Deﬂhe Pure strategy.

10. What is 'Defect’ in Statistical Quality control ?
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II.

SECTION - B

Answer any ten of the following questions : ~ 10x2=20

11.

12.
13.
14.

15.

16.
17.
18.
19.
20.

21.

22.

In a community, in a specific year, 3250 live births occurred. In the

«case of 35 of the above, the mother died due to childbirth. Compute
'M.M.R. ( per 1000 ).

Write any two uses of Index number.
Py, (L)=135and P, (P) =138 find Py, (F).
Diagrammatically represent 'Business cycle' with stages. -

Under which conditions, Binomial distribution tends to Poisson

distribution ?

If the parameter of t-distribution is 6, find the variance.

Define Type-I and *Type-II errors.

Mention any two conditions in fitting y 2-test of Goodness of fit.

f(X,-X,)=27and SE(X,-X,)=13 findZ

Define ‘Maximin-Minimax' principle.

If the depreciation cost and the cumulative maintenance cost for an

equipment for the third year are Rs. 6,000 and Rs. 6,200

respectively, what is 'Annual Average Cost' ?

If P = 002 and n = 100, calculate the uj)pexj control Umit for

‘d-chart  np-chart).
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SECTION - C |

1I1. Answer any eight 61' the following questions : - 8x5=40
' 23. Compute Total Fertility Rate : |
| Age group Femsle | No. of births

(in years) | Population ('000) | of females
15-19 |  s8 | 1302
20 - 24 60 " 9,000
25 - 29 | 56 11;928 |
30 -34 o '55 o 6.45‘)0
35-39 50 1650

40-44 4 572

\ 4616 40 60

24. For the following data show that Fisher's Index Number satisfies

~ Factor Reversal Test :

Item Price ( Rs ) | Quantity
2004 2008 '2004 2005
A 9 11 12 15
B 6 . 4 14 18
c 5 9 22 20
D | 17 15 5 5

[ Turm over
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25. For the following data compute Consumer Price Index Numbers for

1995 and 2000 taking 1990 as base year.

Group Index with base 1990 | Group
Group 1 1998 2000 Weight
Food 100 180 30
c1othing 120 140 6
Fuel an;i nght 140 . 160 8
Rent 300 400 11
Miscellaneous 120 160 : 12

26. Compute 4 yearly moving averages for the following data :

Year 1991. 1992 | 1993 | 1994 | 1995 | 1996 | 1997 | 1998 | 1999

Value| 100 | 102 | 104 | 101 | 106 | 103 |- 101 | 100 | 102

27. The probability of a fuse manufactured by a firm found to be
~ defective is 0-03. Find the probability that a box containing 100
fuses contain no defective one. Among 1000 such boxes how many

contain exactly one defective fuse ?

28. The weights of 1000 Punjabi youths are normally distributed with
mean 50 kgs and S.D. 5 kgs. Find the number of Punjabi youths

 with weight in between 45 kgs and 55 kgs.
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- 29 From the following data, test whether means differ significantly.

30.
31.

32.

_ I sample II sample
Size 400 200
Mean 68-5 "67-2
S.D. 8 6

Explain the test procedure for % 2-test for variance.

‘I.Q. of 5 students before and after training are given below :

Student 1 2 3 4 5
Before trammg
After training 110 | 123

120 125 118 136 121

120 132 125

Test whether there is é.ny significant difference between average 1.Q.
of students before and after training { Take o = 0-01 ).

Solve the following L.P.P. graphically.
Minimise Z = 50x + 30y |
subject to 5x + 4y > 40
2x+ 5y 210
and x20, yz0
| OR
(ForBLind Students as an alternative of Q. No. 32)
A firm produces two types of cloth, printed and plain. Three kinds of

yarns are required to produce the cloth — red, green and blue. One

unit length of printed cloth needs 2 metres of red yarn, 6 metres of
blue yarn and 4 metres of green yarn. One unit length of plain cloth
needs 5 metres red yarn. The firm has a stock: of 8 metres of red

yarn, 10 metres of green yarn and 15 metres of blue yarn. It is

‘assumed that income obtained from one length of printed cloth is

Rs. 10 and one length of plain cloth is Rs. 6. Formulate the L.P.P. SO
as to maximise the income obtained from the sale of finished

product.
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Code No. 31-NS : 14 _
- 33. A manufacturing precess requires a commodity at a constant rate of

| 200 units/month. There is an inventory in which ordering cost is
Rs. 50'/ord_er and holding cost is Rs. 2/unit/month. Find the
Economic order quantity. Also find Economic Order Quantity, if the

shortage cost is Rs. 10/unit/month.

84. Solve the following game using the Dominance Property :
B, B, B, B, |

{ 3 2 o e

Al -3 -1 o -1

A\ 13 4 -3 0

SECTION~-D
IV. Answer any two of the following questions : . . 2x10=20

35. Compute Dorbish-Bowley and Marshall-Edgeworth Price Index

‘numbers ;
Commodity Price (Rs ) Quantity
P 7 ) 70 99
' Q 9 11 81 | 110
R | 15 | 20  225 300




- 15 Code No. 31-NS
36. The followlng data gives the population of a city :

Year 1921 | 1931 | 1941 | 1951 | 1961 | 1971

Population 80 100 110 120 140 152
('000)

§  Fit Linear trend and find the trend values.
f) Estimate the populatin in 1981.

37. For the following localities compute standardised death rates and

comment :
Age - Locality A Locality B ' sundud
(Years) |population| Death |Populstion| Deatn |Population
0-10 600 18 400 16 500
10-20 | 1,000 5 1,500 6 1,200
20-60 | 3,000 24 2,400 24 2,500
| 60-100 | 400 20 | 700 21 500 | ..

38.~ 8 unbiased coins are tossed 256 times. Find the frequencies of the
distribution of number of heads obtained : |

Numberof [ 0 [ 1 1 2| 3|4 |5 |6 | 7|8
Heads (x) | |

Numberof | 2 | 6 |30 |52 |67 |56 |32 10] 1
Tosses (.f) |

Apply 3 2.test of Goodness of flt to test Binomial distribution is a good
fit.



